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If so; what is the reason that a 3127 is not ;7212 in the city

OVERVIEW

The X713 cited a ®n*72 in which X" ruled that 2127 is 719 in a field (and
3732 1s 7P in the city); proving that 2137 is 7332. The &3 refutes this proof
saying that 2197 here means 173172 »773%. The X773 asks why is 2197 not 710 in
the city. In some texts (as it is by us) this question is prefaced by "7 *X';
indicating that the question is predicated on the assumption that 2137 here
means 12312 27131, Our MdOIN explains the connection between the two.
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If the text reads "7 5R' (‘if it is s0’); then this is the interpretation of the
1"X; the Xn»M2 is properly understood if we are not discussing a case of

Yham2 3TN, for -
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Therefore a 2137 is not ;7279 in the city since it is not moving on account of
the 2107 -
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for there are people in the road who are talking together, and there are

various objects in the middle of the roads, which prevent the animal from
moving forwards. This allows us to understand why 7°¥2 2137 is °Ip &9, since the animal is
not °PNRnn XN -
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However if the Xn>11 is discussing a case of 19372 »mmn, then it is

certainly moving considerably because of him, so why is the 2107 not 729p
in the city.

SUMMARY
An animal will not move by a 2137 alone in a city, because it is hampered.

THINKING IT OVER

952 2137 is not 1P because it is not kN X9IR. Is the problem that since it
is not 7NN XIXR there is no 72°Wwn, or that since it is not 7NN RIIR, it is
not the 717 to be a ya 21017

! mooin taught previously (7°7v 2131 7"7 2,7) that (even) by 2137 alone it is also 75N LYY KX,
> Where he is 12372 371 the animal will move despite that there are obstacles in its path.
? See w"x1A MoOIN.
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